
Minusrechnen (bis 100 000)

Aufgabe 1

1. 85 224 - 50 307 =   

2. 15 312 - 11 535 =   

3. 48 541 - 21 341 =   

4. 13 890 - 10 934 =   

5. 87 788 - 59 308 =   

6. 57 603 - 56 773 =   

7. 75 375 - 58 932 =   

8. 73 675 - 65 400 =   

9. 58 322 - 25 639 =   

10. 61 165 - 40 181 =   

Aufgabe 2

1. 79 615 - 61 394 =   

2. 85 921 - 51 003 =   

3. 84 889 - 62 950 =   

4. 88 571 - 72 444 =   

5. 90 444 - 76 712 =   

6. 97 867 - 29 007 =   

7. 67 636 - 24 581 =   

8. 69 168 - 66 426 =   

9. 75 715 - 52 993 =   

10. 43 521 - 24 658 =   

Aufgabe 3

1. 90 086 - 83 614 =   

2. 50 733 - 11 863 =   

3. 99 765 - 45 364 =   

4. 67 366 - 53 727 =   

5. 97 584 - 77 942 =   

6. 62 579 - 10 660 =   

7. 77 093 - 65 965 =   

8. 77 470 - 58 077 =   

9. 94 793 - 17 420 =   

10. 63 190 - 53 260 =   

Aufgabe 4

1. 59 225 - 34 435 =   

2. 61 362 - 52 977 =   

3. 55 144 - 51 461 =   

4. 66 320 - 65 799 =   

5. 94 638 - 52 504 =   

6. 81 052 - 66 461 =   

7. 63 074 - 16 231 =   

8. 83 867 - 12 320 =   

9. 48 180 - 14 855 =   

10. 93 225 - 66 878 =   
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Minusrechnen (bis 100 000)
| ANTWORTEN

Aufgabe 1

1. 85 224 - 50 307 =  34 917

2. 15 312 - 11 535 =  3 777

3. 48 541 - 21 341 =  27 200

4. 13 890 - 10 934 =  2 956

5. 87 788 - 59 308 =  28 480

6. 57 603 - 56 773 =  830

7. 75 375 - 58 932 =  16 443

8. 73 675 - 65 400 =  8 275

9. 58 322 - 25 639 =  32 683

10. 61 165 - 40 181 =  20 984

Aufgabe 2

1. 79 615 - 61 394 =  18 221

2. 85 921 - 51 003 =  34 918

3. 84 889 - 62 950 =  21 939

4. 88 571 - 72 444 =  16 127

5. 90 444 - 76 712 =  13 732

6. 97 867 - 29 007 =  68 860

7. 67 636 - 24 581 =  43 055

8. 69 168 - 66 426 =  2 742

9. 75 715 - 52 993 =  22 722

10. 43 521 - 24 658 =  18 863

Aufgabe 3

1. 90 086 - 83 614 =  6 472

2. 50 733 - 11 863 =  38 870

3. 99 765 - 45 364 =  54 401

4. 67 366 - 53 727 =  13 639

5. 97 584 - 77 942 =  19 642

6. 62 579 - 10 660 =  51 919

7. 77 093 - 65 965 =  11 128

8. 77 470 - 58 077 =  19 393

9. 94 793 - 17 420 =  77 373

10. 63 190 - 53 260 =  9 930

Aufgabe 4

1. 59 225 - 34 435 =  24 790

2. 61 362 - 52 977 =  8 385

3. 55 144 - 51 461 =  3 683

4. 66 320 - 65 799 =  521

5. 94 638 - 52 504 =  42 134

6. 81 052 - 66 461 =  14 591

7. 63 074 - 16 231 =  46 843

8. 83 867 - 12 320 =  71 547

9. 48 180 - 14 855 =  33 325

10. 93 225 - 66 878 =  26 347
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